
{. vw ∑ Ê ªÈáÊŸπ¢«—-

(∑ ) z (π) |

(ª) { (ÉÊ) ~

|. vÆÆ, wÆÆ, xÆÆ ......

(∑ ) vzÆ (π) wzÆ

(ª) xzÆ (ÉÊ) yÆÆ

}. ‹¢’Êß¸ ◊Ê¬Ÿð ∑ Ë ◊ÊŸ∑ ß∑ Êß¸—-

(∑ ) ◊Ë≈⁄ (π) Á∑ ‹Ù◊Ë≈⁄

(ª) ª̋ÊÊ◊ (ÉÊ) Á∑ ‹Ùª˝Ê◊

~. v ◊Ë≈⁄—-

(∑ ) vÆv ‚ð¥.◊Ë. (π) vÆÆ ‚ð¥.◊Ë.

(ª) wÆv ‚ð¥.◊Ë. (ÉÊ) wÆÆ ‚ð¥.◊Ë.

vÆ. øÊ⁄ „¡Ê⁄ ∞∑ —-

(∑ ) yÆv (π) yÆÆÆv

(ª) yÆÆv (ÉÊ) yÆvv

Choose the correct option:-

1. 1 kilogram -

(a) 100 g (b) 1000 g

(c) 10,000 g (d) 10 g

2. Sides of triangle:-

(a) 2 (b) 6

(c) 4 (d) 3
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v. ‚„Ë Áfl∑ À¬ øÈÁŸ∞—- vÆ

v. v Á∑ ‹Ùª˝Ê◊—-

(∑ ) vÆÆ ª˝Ê◊ (π) vÆÆÆ ª˝Ê◊

(ª) vÆÆÆÆ ª˝Ê◊ (ÉÊ) vÆ ª˝Ê◊

w. ÁòÊ÷È¡ ∑ Ë ÷È¡Ê∞¢—-

(∑ ) w (π) {

(ª) y (ÉÊ) x

x. ‚◊∑ ÙáÊ—-

(∑ ) }Æ° (π) yÆ°

(ª) ~Æ° (ÉÊ) yz°

y. flª¸ ∑ Ë ÷È¡Ê∞¢—-

(∑ ) z (π) w

(ª) y (ÉÊ) {

z. vÆÆ ∑ Ê
1

4
—-

(∑ ) wz (π) zÆ

(ª) vÆÆ (ÉÊ) |z

Answer the following question:

निम्नलिखित प्रश्नों के उत्तर दीजिएः 10 X 1 = 1010 X 1 = 10
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3. Right angle:-

(a) 80° (b) 40°

(c) 90° (d) 45°

4. Sides of square:-

(a) 5 (b) 2

(c) 4 (d) 6

5.
1

4
of 100:-

(a) 25 (b) 50

(c) 100 (d) 75

6. Factor of 12:-

(a) 5 (b) 7

(c) 6 (d) 9

7. 100, 200, 300 .........

(a) 150 (b) 250

(c) 350 (d) 400

8. Standard unit of length:-

(a) metre (b) kilometre

(c) gram (d) kilogram'

9. 1 metre:-

(a) 101 cm (b) 100 cm

(c) 201 cm (d) 200 cm

10. Four thousand one:-

(a) 401 (b) 40001

(c) 4001 (d) 4011

w. Á⁄ÄÃ SÕÊŸ ÷Á⁄∞—-

v. yÆ ¬Ò‚ð = ............ L ¬ÿð

w. v ÁºŸ = .............. ÉÊá≈ð

3. 39÷3 = .........

4. 5001–9 = .........

5. 1 day = ......... hours

Fill in the blanks:-

(a) 400 paise = ......... rupee

(b) 16×7 = .........

(c) 39÷3 = .........

(d) 5001–9 = .........

(e) 1 day = ......... hours

x. ¬Ò≈Ÿ¸ ¬Í⁄Ê ∑ ⁄‘¥ —- w.z

(a) 2, 4, 6, ..........., ...........

(b) 3, 6, 9, ..........., ...........

(c) 5, 10, 15, ..........., ...........

(d) 10, 20, 30, ..........., ...........

(e) 7, 14, 21, ..........., ...........

Complete the pattern:-

(a) 2, 4, 6, ..........., ...........

(b) 3, 6, 9, ..........., ...........

(c) 5, 10, 15, ..........., ...........

(d) 10, 20, 30, ..........., ...........

(e) 7, 14, 21, ..........., ...........

सही विकल्प चुनकर लिखोंः-
400 (4,5)

(116, 112)
(16,  13)
(5992, 4992)

(25, 24)

Choose the correct options:-

कोई पांच प्रश्न करें। 5 x 2 = 10
Do any five questions:-
(क) गुणा करें 

(ख) भाग करें

(ग) वर्ग के 2/4 भाग को छायांकित करें।

(घ) 4.50 मीटर              मी0                    से0मी0

(ड.) 36 के गुणनखण्ड कीजिए।

(च) 4 रूपये का 1/2 भाग कितना होगा?

Multiply = 132 x 46 
= 132 x 46

Divide = 927 :- 3
= 927 :- 3

Shadl 2/4 part of Square 

4.50 mt. = ________mt. + ________ c.m.
= ________mt. + ________ c.m.

Write factors of 36

What will be the 1/2 part of Rs 4?
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iz0 4 gy djsa ¼dksbZ nks iz'u½ (2 X 3 = 6)
Do any two questions

¼d½ gy djsa 75.76 + 11.80 + 6.10
Solve:- 75.76 + 11.80 + 6.10

¼[k½ ,d v.Mk 2-50 :Ik;s dk gS rks 1 ntZu v.Ms fdrus ds gksxsa\

An gg costs 2.50 Rupees. How much will 1 dozen eggs?
¼x½ ,d gkFkh dk cPpk ,d fnu es yxHkx 12 yhVj nw/k ihrk gSA og nks lky esa fdrus yhVj

nw/k fi,xk\
A Baby elephant drinks around 12 lt. of milk every day. How much milk
will it drink in 2 year?

iz0 5 VSyh pkVZ iwjk dhft,%& 4 x 1 = 4
Complete the Tally Chart:-
tkuoj VSyh fpUg

fcYyh

Cat
dqÙkk

Dog
[kjxks'k

Rabbit
xk;

Cow
rksrk

Parrot
cdjh

Goat
fxygjh

Squirrel

iz0 6 fuEufyf[kr iz'uksa dks gy djsa%& 3   X  5  =  15
Do the following questions:-

¼d½ 976 cPps fidfud Ikj tk jgs gSa] mUgs NksVh clksa esa ys tk;k tk jgk gSA vxj 25 cPps ,d
cl esa tk ldrs gS rks mUgs fdruh clksa dh t:jr iM+sxh\
976 children are going to a picnic. They will be taken in mini buses. If 25
children can go in one bus then how many buses do they need?

¼[k½ ,d oxkZdkj cxhps dh ckM+ dh yEckbZ 20 eh0 gS] cxhps dh ,d lkbZM dh yEokbZ D;k
gksxh\
The fencing of square garden is 20 mt. in length. How long is one side of
the garden?

¼x½ Hkkx djsa vkSj mÙkj dh tk¡p xq.kk ls djsa%&   897 ÷ 9

Divide and check your result by multiplication:- 897 ÷ 9
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Distribution of Marks

5th Class

iz01 fuEufyf[kr iz'uksa ds mÙkj nsa 10 x 01 = 10

iz02 lgh fodYi pqudj fyf[k, 05 x 01 = 05

iz03 dksbZ ikap iz'u djsa 05 x 02 = 10

iz04 dksbZ nks iz'u gy djsa 02 x 03 = 06

iz05 VSyh pkVZ ;k lkj.kh 01 x 04 = 04

iz06 fuEufyf[kr iz'uksa dks gy djsa ¼dksbZ rhu½ 03 x 05 = 15
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